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H1ZE: 20178t HIR-AIE GAEAS MY - MIE 212 10,081,000 22
BHLE,
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20178t = GOl olat SEH

Al 2 Al 2
2 o A0 AN | JIHMMN | HOE2Y oy HE 0N | J1F 0l &Y Hos2
(A) (8) (r-8) (A) (8) (A-8)
1. Mekeg 8,072 8,372 1,300 . Ol ALZIHI 450 200 250
2. 018= 676 1,701 41,025 At 860 1,600 AT40
3. &=¢ 1,333 53 1,280 M &k 761 420 341
HES 7,456 7,650 A194
. 83XE 554 1,158 A602
. Ollgldl 0 100 4100
Al & 10,081 11,126 A1,045 HE& A 10,081 11,126 21,045




Al @ (o9 : #R)
= HI 2
ZEOIA | DI 0fl Aol & B DR
3y | = s&
1. a2 8,072 9,372 21,300
1.2 a4 8,072 9,372 21,300
LEZA HAD GRS 20} 24-181K 6.61n° Sl =
1.0012 A EXYRE
: 1,980 1,980 0
(EXIRIE) * O 660,0008 » S4I3A = 1,980,000
Hl: 1,980,000%
201201 6,002 6,092 0 1. +28 JIE2MLHEI) 22001 28 KIS0 TH4+L
+8 (1)362,398, 8409 01l CHE OIXb=2 (1.90%)
* 485,0008123|= 5,820,000
(2)16,490,00021 0 CHEH O K== (1.91%)
* 272,0009+13] (27| )= 272,000
H: 6,092,000
3. BEOIAl 0 1,300 A1,300 [1. 20169 BOINES2(HZHIPA)
EE « BOlE HoN 823 = 1,307,740
= 20164 BHOIM(LEASAH 1,649,0008) £
2 oIB HOINES3(1,307,740%) X2
H: 0
2. 01E2 676 1,701 21,025
(IRSIEEET= 676 1,701 A1,025
EEE 676 1,701 1,025 [1. 20168t S Z BT
20l 2
H 676,219
3. &4¢ 1,333 53 1,280
1.0 20l Xt 3 3 0
1.2802 3 3 0 . HOISE 2S020/X
Ol Rt * 3,0009
H 13,0009
> mAol 1,330 50 1,280
0 50 NEIREEEEEE
I « SME YoM 22 =02
Al 0
g 0 B0 gemw me me 20154 mok #23 w
2. B A Atoi= 1,330,490
H: 1,330,490
K2l E 10,081 11,126 | 21,045




M = (Ss] : &H)
Z4F 0l AFOK | D] F 04 A o A EJ =
28| = =
1. OlAF3IH| 450 200 250
1.0l AF3IHI 450 200 250
1.3 9t 50 100 AS0  [1. Ctardl
« 10,0008 * 53| = 50,000
At 50,0008
E] 400 100 300 |1. OIAFE B2
= XIH| * 50,0008 = 83! = 400,000&
H: 400,000
3016 0 0 0
2. AFRHI 860 1,600 AT40
1, ~2H 860 1,600 AT40
1222 860 1,600 ATA0 1. HOl EJ|222 (M2 A A2H])
A M| .« 180,0009 * 23| = 360,0008!
2. BQIBIHAID 242 (B XEY|)
« 500,0008 * 18] = 500,0008
H: 860,0008
3. THAFZ A 761 420 341
1. X0 AF2E2) 761 420 341
1.2 761 420 341 1. BAHI LXE SOPHRA
HE 2 o 60,0008 * 43](LG, KT 2t15|, SK23|)= 240,000
2. EAZ =4 AWE 2IILXIA
« 90,0009 * 23] = 180,0002
3. 20161 HOIN(ATASH) =
. 341,260
H: 761,260
4, ME2 7,456 7,650 194
1. 8=2 7,456 7,650 A194
S 7.456 7,650 A194 1. UHSYZ= M= = 7,456,0009
2zl s AABHEECZ @ 3,728,0008
g3 . QI2ES2 : 3,728,000

H 1 7,456,000




o= bl
207 (] AFOH | | F 0] A oK - M E D E
28| = =
5. HX= 554 1,156 2602
S 554 1,156 2602
| 2a= 0 156 A156 1. OIAE ANE
A 0%
2 JIEf 554 1,000 ~426 |1, JIEF WK=
HX = ¢ MEARESDSS DHOIEO Y|
10,0008 * 188t2 = 180,000
.« OIAEI A RSIH (NEAREE DSS DB OIE 0 3])
100,0008 * 13 = 100,000
« JIE} : 274,000
H: 554,0002
6. ClHIHI 0 100 2100
1. oliblY] 0 100 A100
101618l 0 100 ~100 |1, ool
H: 0
ELE 10,081 11,126 | 1,045




